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Jeopardy Geometry

1. If the area of a rectangle is 28 square inches and the length of 

    the rectangle is 4 inches, what is the rectangle’s width?

2.  What is the perimeter of a square whose area is 49 square ft?

3.  If the height of a triangle is 6 inches and the area of that same 


     same triangle is 9 square inches, what is the base of the 

     triangle?

4.  What is the radius of circle whose circumference is 25.12?

5.  What is the diameter of a circle whose area is 153.86 sq ft?

Jeopardy Geometry – Answer Key

1. If the area of a rectangle is 28 square inches and the length of 

    the rectangle is 4 inches, what is the rectangle’s width?

      Area = length x width

        28 = 4 x width

          28 divided by 4 = 7 inches          

2.  What is the perimeter of a square whose area is 49 square ft?

      The area of a square is side2, the square root of

        49 is 7, therefore the side of this square is 7.

        The perimeter of a square is 4 x the side, therefore

         4 x 7 = 28 inches.
3.  If the height of a triangle is 6 inches and the area of that same 


     same triangle is 9 square inches, what is the base of the 

     triangle?

      Area = ½ x base x height

        9 = ½ x base x 6

          9 = 3 x base

          base = 9 divided by 3 = 3 inches        

4.  What is the radius of circle whose circumference is 25.12?

      Circumference = pie X diameter

            25.12 = 3.14 x diameter

            25.12 divided by 3.14  = diameter = 8

             Radius = ½ the diameter = ½ of 8 = 4

5.  What is the diameter of a circle whose area is 153.86 sq ft?

     Area of a circle = pie x radius2

          153.86 = 3.14 x radius2

      153.86 divided by 3.14 = 49 = radius2

       radius = square root of 49 = 7

       the diameter is twice the radius = 7 x 2 = 14 feet
